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I+ the eavation Simplifies
to Something |ike x=A
where A s a real numbper,

it's o one Solution eqvation
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Definition:

A linear equation Wwith infite Solutions ;
is an i
thot_is always trve,even with +he X vaive eavation|

A-\-B';A*B

JExamPles: =T Samey
2Cx+3)=2¢ + 6

Bx +10E5( £ 2)

An eavation has infinite
Solvtions wheh both Sijes
SimPlity 1o the Same
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3(2x -49)=¢Cx—12
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7+ M=F(+2)
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A linear equation with ho Solution(s) i a equation
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JExomPles:

3(: '|'2)= 3: 1’10

An eauvation has no

Sx+3F=fx -2
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Exercise Pract+ice Questions!

ike Jov

Figure out it the four RAUATIONS Shewh are Ohe Sojution,

intinite Solutions,

9,% =>< none.

A+C=

T U(x _2)4-3:‘)_,( + 7

Don'+ forget o
Show ALL of yYour

Y Gx+3= 3(2«1)

work!

" 5(+-4)*10=5x =10

3 2(3:+5)=6x *+ 10

G- A
\*




